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NOTE: Write answers to the questions on objective ans
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wer sheet provided. four possible answers AB,C & D to each question are given. which answer

you consider comrect, fill the corresponding circle AB,C orD given in front of each question with marker or per ink on the answer sheet provided.

L

10.

1L

13.

14.

15.

3- in terms of percentage is:

_4‘-.@‘:&'—‘(5},2%

1
(A) 39 ® 1% © 33% 1€5)) 335%
In ratio a:b, "b" is called: ?u?éli_rl;ﬁﬁ'b" o WLJJ 2b
(A) Extreme JL}'! (B)  Antecedent L
(©) Mean o) (m conseqnent 2S5

Usher on a wheat crop produced on natural resources

amounting to Rs. 150000 is:

(A) 10000 (B) 5000 ()]
The share of a widow in inherited property is:
1 1
\ - ®) = (©
4 3
Profit %=7 where SP>CP
Profit 0"
W . I’: ®)
w7 ol
CP x Profit oo
© EXProfit s eixd ®
10 100
The return earnéd by the bank on loan is named as:
(A)  Markup ?«fJL (B) Premium f.’S/ ()]

The amount which is paid by the bank on the deposit is called:

S0P L0 315000080 S S TS S s 0305

15000 (D) 20000
("f— Lif»"’ el & (_kf‘.:‘.u o7
1 1
&l o =
. 3 -
:;Jf»;;~5)/';,:¢.g>,zjm‘;f lg_{r’Lv Wdf
Profit &
e X100 —— % 100
e P e
100 x 5P 100 X 25 o

100 + Profit% 100 + .a &

_(,L?%L'.’a..l u;:_l;'/(d}‘auib.“ﬁ(;/ J?/_._Z;.-)u'ﬂ/;
(D) Profit Pt
e v Sf iz by f ST

J
Bonus (/o

(A Profit Cb (B) Bomus /4 (€ Premium (5, (D) Markup S

The tax in addition to the price of the article is called: _Lﬂi"{f u’g (jt-'alu': va J 7z o J
(A) Tax u’g (B)  Sales tax u’g)'-’ (©)  Income tax JG,;l (D)  Excise duty LE@{;“/'L,(I

In4° 4 is called: S a e
(A) Base Ul (B) Exponent s (C)  Integer J//-g (D) Radical i

The logarithm calculated to the base 10 is called: ‘u:ré‘l"ff / A ;J/’_J:/.(.Jr WO
(A) Mantissa L (B)  Common logarithm / K
(C©) Characteristic b (D) Natural number Iy

as of2,6,18,... is: ezt ag 226,18,
(A) 160 (B) 161 © 162 (D 30

AM between \/gand 3\/_is: b3 W33
@ 243 ® 53 © 93 ® 43

1U={1,2,3}, A={l}then U— A =7 U-A=1n A={1}.U={1,2,3} /i
@ {23} ® {12} © {13} D ¢

The coordinates of origin are: Ny PRI Ty :_’/_»l,«g
@ a,n ® (D © 0 @) 0

The score which qccurs most often in a set of data is called:

(A) Mode b (B) Mean bl ©

~§_aMLT,;/D)LJme’Lﬂ)'}’Jr}?¢4{E‘DJ

Median #k-3 (D) Geometric mean bt/
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‘r Section-i
N 2. Write short Answers of any six parts from the following:

vi.

vii.

Viil.

vi.

vil.

viii.

iii.

iv.

vi.

vii.

viii.

i. It 4={1,4,7,8},8=

Express the 25% as fractions into its lowest form.

2.3,
ii. Express -3—:7 in its simplest form.
J

iii. Find the ratio of Rs. 160 per meter to Rs. [ 50 per meter.

iv. Define Zakat.

Calculate Usher on arice ctop produced by natura}
resources amounting to Rs.6,00,000.

Define Loss.

Growp - - .},«.’f 10

2x18=36 R)aﬂ.c"_’:_ ,J;g >
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Find the CP when: SP(».:«-?‘}}»ME) =Rs.17 54- 20 Profit (¢ ) l} L % /;,, 20 S A ; _':.E
Find the marked price when: SP(=53 fizd) = Rs. 2400454, Discount (:£:4) = 4% f//l"éfg(:’“"'%gv«!j@w

What is meant by current account?

Write short Answers of any six parts from the following:

- Convert 5000 Riyal into Pak rupees if | Riyal=Rs.22.3449,

What is meant by indirect tax?

i. The annual value of a flat is Rs. 14,00,000. Find the tax payable at

arate of 16%.

a
- Write in the radical form and simplify (27)3

Solve it.

log(x-2)=1

‘-’4‘_;1/’&1/4:_‘.&/'5574/’/(
£ /‘ wllg ﬁf L7 @fé'md_qtlﬁl'_——{,}f(_,‘!:.;@JJ
2x6=12 : =

~4-3/22.3449=y 1 1 };;;idy,f"L,;:u,;',,l&tdgdg/sooo

S sl e Lf?J,,.r .
LU 1 6% 43714,00000 2.5 2 b

_’E;i/p[”'(f' L,l:{;l/_l)lg}ili'c_,

(27)3 s 8 S

Ly

If log 6374 = 3.8044 then write the value of log 0.6374 _gﬂ”&gd/log 0.6374 3xlog 6374 =3.8044 /i

Find AMbetween x+7 and x—1

Find G.M between 2x° and 8y*

ix. Define Arithmetic Mean.

Write short Answers of any six parts from the following:

What is the difference between two sets? Write the difference of

two sets symbolically.

{4, 6,8,9}.find 4U B

If A={3,5,6}, B={1,3},find Ax B

Define Abscissa and Ordinate.

Convert 95°F into C° (Celsius),

Draw the graphof y = 3x

Write down two kinds of measures of central tendency.

Find the range of given data 10, 18, 9, 6,22

ix. Define standard deviation and write down the formula of

standard deviation.

@fr)r‘/‘k;dﬂj&»u& x—=1aix+7
_2‘;{(:';"1:/3(_}/'”@9’/)4 8)/‘4 i 2x2

AT

wme=12 iy felin Loz e el

v‘?;’g/:ub(;fu;/@/Z_u;f;;?f_;ﬂfg_fc_u/é‘,;,r,,

-4 AU B In B={4,6,8,9) 4={1,4,7,8)/
- r# Ax B B={1,3}. 4={3,5,6} )
“Zy AT g

E e BGSEC S 95°F

e bo¥y =3y
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Note: Attemupt any three guestions from the following:
The stay of 18 students for36daysina hostel costs Rs.58320.
¥ind the cost for the stay of 9 students for 12 days.

Asghaylefta property of worth 1s.4,80,000. He left behind a
widow, three sons & four daughters. Calculate the share of each.
By selling | 00 oranges, a vendos gains the selling price of 20
osanges. Find the profit percentage-

Waseem invests Rs.5000 at 5 ;1‘—% per annum profit compound
anmually. Find the amount at the end of third year.

Ifthe totai income of 2 person is Rs.6,25,000 with exemption of

amount Ks.1,50,000, then find tax chargeable @4-.5%,

Prove thatt

Find three G.Ms tetwesn 2 and 32.

1f L= {1,2,3} and M = {2,3,4} then write a binary relation

"RY guch that K= {(x, y)\x eL,yeMnAys x} and write

Dom (R and Range ®).
Drraw the graph.

The total monthly income of § persons are Tts.3000, Rs.4000,
Re.3500, Rs.3800,Rs.4 500, Rs.4200 Rs.3600 and Rs.5400.

Yind their srithmetic mean.

FapLidig s

3log2 +2log3 +logs= log 360

s gk T

8x3=24

BF syzlatir et e
/58320 Y368 stk (GBS
_aé()’*@iw,;uﬂd’ (12649
15458 §¢2480,000 adefii ()
e Lol e A g I N g
b S P owsspedfuiia0l 2. 2010057 §17L) (.6
P s
P AL 14% 4350004 ()
el P sy Edves ¥
150,000 A 5 11-26,25,000 LTS 0 T
4?;('513"‘201\}5‘ et fa.5% AP E 2R

et ()

..?.{:r)”kndﬂuful,;‘n‘ﬁ32»i2 (.9).8

gt R IM = {23, 4] L= 2,334
J(JIR={(x,y)\xeL,yeM/\yéx}fé'iT

-’é:r)-” Uaff:] s dﬁ
dg(_}sf .9

43500 (/4000 ‘4__,,}3000&»7 G pfud T ()
4}»515400 155%513600 ré;-.,JJil?.OO :&;114500 «¢3s3800
e I
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NOTE: Wrife answers to the queslions on objective auswer sheet provide

four possible answers AB,C & D to each question ace given. which anawer

you consider correct, fill the corresponding circle AB.C or D given in front of each question with marker or pen ik on the answer sheet provided.

1. %in terms of prcentage is: AN ,_7_ 1
(A 359% ® 35 © 20 ® 20%
2. Inmatioab,"a" is called: s pedfan 2
(A) Extreme d,L?l (B)  Antecedent O 151 J’l
(C) consequent LI4 (f ¥ (D) Mean e
3. On a crop produced on artificial resources Usher is deducted "LIIL /J U5 ke J/ /J") uf d/ ._/l./r-,g,l 555 3
at the rate ofs
W) 2.5% ®  25% © 5% @ 10% .
4. Zakat on an amount of Rs. 100000 is: Tl gEas E:"//'/7 42100000 4
(A) Rs.2500 &5, (B) Rs.25000 & (@) Rs2000 &, (D) Rs.15000 &
5. Loss is there when: :ﬁgmuwﬁ 5
(A) sp=Cp S pedmp S (B  sp>cp a3 el >y P
(©) sp<cp e jed<y od (D)  sP=MP wd1ped = e fln g
6. The company under taking the act of insurance is called: e :@dLm/J W LS #;’.&»‘r 4
(A) Insurer w#£ (B) Insured 55 {C) Insurance 251 (D) Insurance Policy Lf-gu' 2
7. The periodic instalment to be paid by the insured is called: _gg;{:ffj,j Lﬁ,(l;l%_/}[_:‘/ﬁﬁ rT
(A) Bomus 1 (B) Discount .53 (©) Premium £y (D) Markup 7!»LL
8. The tax charged on the owner of a land house, flats or building _wé::'fgi«q_k‘bggf bl Lty 2B /ﬁu-'f)r?(,fg s .8
is called:
) 'Property Tax J‘g Lj/__,l/_: (\B) Income Tax Lfg fl
(C) Direct Tax Jg el (D) Indirect Tax Jg il
9. 3,3 iscalled: ' Wr U 33 9
(A) Radical .o  (B) Radicand ¢ (© Integer sl (D) Notural number s.ells
10. Ina”, niscalled: sV nta" 0
(A) Radical i (B) Radicand ..i# (C) Exponent Vi=f (D) Base LI
Il Nexttermof12,16,21,27 is: e VPt 12,16,21,27 01
(a) 34 (B) 30 (© 31 D 32
12. @ of3,7,11,.....is: ‘ el a4 3,7,11,..... 12
@ 3 ®) 19 () 23 @ 20
13 1 U={,2,3,4}, 4={4) then 4° =2 £=15 4={4U={1,2,34)/1 13
w {1,2,3} ® ¢ © {1 ™ {1234}
14.  If y=3x,thenfor x=2,wehave y="? y='.7?ui’r/ x=2 Ly=3x .14
A 2 . B -3 © 6 m o
15, The middle value of data arranged in nurnerical order is called: _<‘:_(3U:f u.wf(j),ﬂf’ WA 70’( 15
(A) Mode sk (B) Median s © Mean L~ (D) Geometric Mean L-si(} 2
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i. Convert 500,000 PK rupees to Euro. Ifone
Euro=112.4088.

AL 43 112.4088 9 L1
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Roll No, PN (For All Sessions)
General Mathematics (Arts Group) (Essay Type #1) { _.p,f ;j s Lol
Marksa6h Timne: 2:10 Heurs Croup - If - *'e"/ E20: s oy
Section-l R Ubﬂ- 4 2x18=36 iz
2. Write shott Answers of any six parts from the follcwmg 2:(6: 12 -y /‘"};pl',b? /’3" Lz & c_d zwu L,) 3z %
i. Expressthe 48% as fractions into its lowest form. -Z:f):,/;(’; AJ ":cjl/l‘.l,(w Pl JaA8%%,
ii. Find the ratio of 20kg, Skg in its lowest form. e o i a0kg kg
iti. Findthevalue of X intheproportion 20:50::8: x . -Zf.{_-’r':)*"’.:;.gd, X AL 2005008 i
iv. Define Usher. ok, i }" er v
V. Calculate Zakat on gold amounting to Rs. 1 110000. Jé_:{r:"’ﬁ)"//‘/’ul};.ﬁé;_yl 110000 =SSt v
vi. Define Profit. _2;:(,..5/‘ /'7:\ o (,” i
vii. Find the SP, when: CP(x7 2t} = R5.9600 43, Proﬁt( ) 10% 3/72:{(3[’)-“’;«5)/;6&{? .vil
viii. Find the Selling Pricc when! MP(:«{»PZ;/)) =Rs.728 14, Discount (=Z)= 6% :,},i:z;i-’;miﬂ:,d,_.i.,:;.éf viii
ix. Whatis meant by bank draft? Set Ve itd b ix
3. Write short Answers of any six parts from the following: 2x6=12 -Zgz /‘? Ty /*";ﬁ[.rlf ! ,ga.(j.f i S 3o 2

Zugfude 500000 i

A f

ii. Define Income Tax. \J i
Hi. A salestax of 16% is imposed on television. Ifthe marked 18000.’:«36/:/__,025&/7-9?’1&7J" )fl 6% [:UZJ(J: i
price of the television is Rs. 18000. Calculate the total ?Lf ﬁg}/ﬂﬂ(y /(j{ L)’/f LIJL.ﬁJ’.UZJLE ;Jf’%..ﬂ./
amount one has to pay ifhe wants to purchase it.

iv. Simplify. Saxiizg A
v. Write in scientific notation 0.00018. -E‘Juf(‘?hf"{‘/ff).OOO 18 v
vi. Write in decimal form 18.42x107" . -’&guﬁ(}’ J,:/Li-ﬂfl 8.42%1070 i
vii. Find the term indicated in the sequence: 2,6,11,17,...........0 ~2,‘§(5L"(71£"/( P L i
viii. Find A.Mbetween 2+/5 and 6+/5 . S T Y N PN
ix. Find G.M between 3 and 27. SE bl e L 2T 03 i

4, Write short Answers of any six parts from the following: 2x6=12 -E;-(/,, Pz 2Lz l;gc_dfc—ufu‘j s 4
i. Define a Set and give an example. e Lty Fler i
ii. If A={a,b,c}, B={a,e,i,o,u} then find AU B -agfrPAuB?nBz{a,e,i,o,u}:A={a,b,c}f? i
ii. 1fU={1,2,3,4,5,6,7,8},A:{2,3,5,7}, S A Tn A={2,3,5,7}.U=fl,2,3,4,5,6,7,8}/7 i
then find 4€
iv. Draw the graphof x = -2 -?Tfhilflz’x =-2 v
v. Convert 220°F into C° (Celsius). -éd_’//" Uf(:}_/fl,??)CDIZZO') F v
vi. Define Cartesian Plane. S K i
vii. Define Arithmetic Mean and write the formula of A.M. -&F J l{ij_bﬁ’ brsl Qlﬂul’d.{».él /‘7 Jb/ﬂ@lﬁ il
viii. Find the range of given data2,9,3,6, 12 ,8. -2',{(3"”:%(;2, 9,3,6,12,8 Jl;’éf:/,:_; vidi
iX. Find the geometric mean of 2,4 and 8. _&f’_:r;l”‘b/;u}/?'b’g sMA2 ix




5.0a)

),

6.(a)

(b)

7.(a)

Y]

Section-il p\wp '4 )-'ZZ:X3=24 (995

Note: Aitempt any three questions from the following: E felaleril e e )it e

Amna scored 46 out of 50 marks in Maths test, 64 out of 75 (5/‘{,,6.4;()%/46@;: 50U L (5Pl T (Lih).5
n‘.;arks in a Chemistry test and 72 out of 80 marks in a Physics _c_f./.d" b / T2 S 80JE l// Pl / 64 fn 75 o~

test. In which subject did she perform best? ?J%Lﬁﬁ?u{)‘fuf;jy‘»u/é..w

A deceased lef a profit of worth Rs.45,00,000. Ifhe lefi behind Sui iZ Jlfng'.:z‘L%_uzls,OO,OOO éjf.f‘;“_l Lu"f L)
a widow and two sons, work out the share of each. -2{(:1” 22 4 B ..__Cl YT u;f:t;:ulug..,_ﬁ
Distribute Rs.720 as profit amongst three people, so that their WA z.:ulfl 22: ﬂ:’r f“ ;J (_’fl &-372005S gl ()6
shares are in the ratio 3:4:5. L5345 aad

1 - 1 4
Find the compound profit of Rs.50,000 at 4% for 1~7- years. -zf;”r}’f(‘jwsg oy 1E U2 4% 44250000 ()

Ifthe total income of a person is Rs.7,00,000 with exempted  (f£s/150:00040/1 5d17,00,000 34T 5% S P G0 (a7

amount ofRs. 1,50,000. Find the tax chargeable @4.5%. ‘.’lfnc,}”ln/?l;fa,@)(;AS% Frisd
8.67x3.94 .

Solve with the help of logarithm table. 17z S el U ;Cfaf K9 (L)

{3 and 6 are two A.Ms between @and b then find ¢ and b ..1:)":(‘;1"” bt ad b3 63 sl b ai (s

(AN B) = A° VB fefaki B={7,8,11,12} m A= {7,10,13,14} .U ={7,8,9,10,1,12,13,14} JI (..

1 U ={7,8,9,10,11,12,13,14}, 4 ={7,10,13,14} and B ={7,8,11,12} then verify (4 B)" = A° U B

Draw the graph oft y=2x-13 véf_:-“zé/d'f (.9
The total monthly income of 8 persons are Rs.3000, Rs.4000, (4173500 6434000 ¢£-2,300004 T F1SussT 4T ()
Rs.3500,Rs.3800, Rs.4500, Rs.4200 Rs.3600 and Rs.5400. Gt 5400 1114’.1/3600 fd_'_’._u4200 ‘%.5.14500 :d_.:,u} 800

Find their arithnietic mean. _’c.‘gr‘;i”ﬁ/,l(}()lfulqg,

224~09-5-13630



